




360 × 9 ÷ 3 + 120 + 900 ÷ 5 = ?

1. 1426
2. 1286
3. 1380
4. 1275
5. 1180



(292 – 141) ÷ 5 + (40 ÷ 2) + 23 = ? 

1.127
2.145
3.168
4.179
5.NOT



(54/6) × 5 + 12 × (17/2) = ?% of 700

1.20
2.21
3.35
4.25
5.11



12.5% of 384 - 16.66% of 66 = √16 + √? + 22

1.289
2.625
3.841
4.676
5.324



23, 45, 89,   177,   363,   705

1.177
2.45
3.89
4.363
5.705



100, 221,   77,   245,   50, 275

1.245
2.275
3.77
4.100
5.221



5,   10, 30,   150,   950,   11550

1.10
2.30
3.950
4.11550
5.5



217, 267,   304,   330,   348,   357

1.217
2.267
3.330
4.357
5.348



5,   13, 36,   145,   719,   4321

1.5
2.36
3.13
4.145
5.719
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A B C D E

Data of 5 Shops

Number of Fiction books Number of comic books

Direction: Study the data carefully and answer the following questions.
Following is the data given of selling of 5 shops A, B, C, D and E of two different types of 
books.

निरे्दश: र्दी गई जािकारी का ध्यािपूर्वक अध्ययि करें और निम्िनिखित प्रश्नों के उत्तर र्दें। र्दो अिग-अिग प्रकार की 
पुस्तकों की 5 र्दकुािों A, B, C, D और E की बिक्री का डेटा निम्िनिखित है।



Find the difference between total comic books sold to total fiction books sold from all the 

shops ?

बेची गई कुल कॉमिक पुस्तकों और सभी दुकानों से बेची गई कुल मिक्शन पुस्तकों के बीच का अंतर ज्ञात कीमिये?

1.200
2.150
3.175
4.100
5.250



Find the ratio between total books sold from shop C to that of shop B ?

दुकान C से बेची गई कुल पुस्तकों और दुकान B की कुल पुस्तकों के बीच का अनुपात ज्ञात कीमिए?

1.3 : 4
2.1 : 1
3.4 : 3
4.2 : 1
5.NOT



Number of comic books sold from shop E is what % more than number of comic books 

sold from shop A?

दुकान E से बेची गई कॉमिक पुस्तकों की संख्या दुकान A से बेची गई कॉमिक पुस्तकों की संख्या से मकतने % 

अमिक है?

1.40%
2.33.33%
3.27.5%
4.37.5%
5.75%



Find the average of total number of fictions books sold from all the 5 shops?

सभी 5 दुकानों से बेची गई कथा पुस्तकों की कुल संख्या का औसत ज्ञात कीमिये?

1.265
2.275
3.305
4.315
5.NOT



Find the difference between number of fiction books sold from shop B to number of comic 

books sold from shop D?

दुकान B से बेची गई मिक्शन पुस्तकों की संख्या और दुकान D से बेची गई कॉमिक पुस्तकों की संख्या के बीच का

अंतर ज्ञात कीमिये?

1.150
2.100
3.125
4.75
5.NOT



A sum of money invested for 2 years at 20% compounded annually and similar money 

invested for 3 years on simple interest at 10% per annum. If the difference between 

interests is 280rs, then find the sum of money?

1.Rs. 2500
2.Rs. 3000
3.Rs. 4000
4.Rs. 2000
5.Rs. 1500

एक धनराशि जो 2 वर्षों के शिए 20% वार्र्षिक चक्रवरृ्ि दर से शनवेि की जाती है और समान धन 10% प्रशत वर्षि की 
दर से साधारण ब्याज पर 3 वर्षों के शिए शनवेि ककया जाता है. यकद ब्याज के बीच का अंतर 280 रुपये है, तो धन 
का योग ज्ञात कीजजये?



55 litres of a solution contains alcohol and water in the ratio 2 : 3. Water is added in the 

solution. The new mixture has a ratio of alcohol and water as 1 : 5. Find the quantity of 

water added?

1.87 litres
2.97 litres
3.67 litres
4.77 litres
5.NOT

एक 55 िीटर घोि में अल्कोहि और पािी का अिुपात 2: 3 है. घोि में पािी नमिाया जाता है। िए नमश्रण में 
अल्कोहि और पािी का अिुपात 1: 5 है। नमिाए गए पािी की मात्रा ज्ञात कीखजये?



The ratio of ages of A's grandfather and his father 14 years ago was 5 : 3. The present age 

of A's grandfather is 7/2 of A's age. If the age of A 8 years ago was 16 years, then find the 

sum of present ages of all three?

1.158 years
2.161 years
3.164 years
4.170 years
5.162 years

14 र्र्व पहिे A के र्दार्दा और उसके बपता की आयु का अिुपात 5: 3 था। A के र्दार्दा की र्तवमाि आयु A की आयु की 
7/2 है। यदर्द 8 र्र्व पहिे A की आयु 16 र्र्व थी, तो तीिों की र्तवमाि आयु का योग ज्ञात कीखजये?



U is 8 years older than A while A is 6 years older than S. If the ratio of the ages of S to the 

age of U is 5 : 12, then what will be the age of A after 12 years?

1.21
2.38
3.22
4.28
5.NOT

U, A से 8 र्र्व िडा है जिदक A, S से 6 र्र्व िडा है। यदर्द S की आयु और U की आयु का अिुपात 5 : 12 है, तो 12 
र्र्ों के िार्द A की आयु क्या होगी?



Length and breadth of a rectangular room are in the ratio 4 ∶ 5. The perimeter of the 

room is 180 m. Cost of flooring is 75rs per square metre. Find the cost of flooring the 

room?

1. Rs. 1,50,000
2. Rs. 1,20,000
3. Rs. 1,75,000
4. Rs. 1,68,000
5. Rs. 1,45,000

एक आयताकार कमरे की िंिाई और चौडाई का अिुपात 4 : 5 है। कमरे की पररनि 180 मीटर है। फशव की िागत 
75 रुपये प्रनत र्गव मीटर है। कमरे को फशव रे्दिे की िागत ज्ञात कीखजये?



V brought a pen for 2000rs. He sold it to R at a loss of 20%. R had to earn some profit, so 

he sold it to V at 10% profit. If V has to earn a profit of 10% from selling it, at what price 

(in Rs) should he sell the pen?

1.1975
2.1936
3.1950
4.1924
5.1904

V 2000 रुपये के निए एक किम िाया। उसिे इसे 20% की हानि पर R को िेच दर्दया। R को कुछ िाभ अखजवत करिा 
था, इसनिए उसिे इसे V को 10% िाभ पर िेच दर्दया। यदर्द V को इसे िेचिे से 10% का िाभ अखजवत करिा है, तो 
उसे किम को दकस मूल्य (रुपये में) पर िेचिा चादहए?



A boat covers a certain distance downstream in 5 hours but takes 7 hours to return 

upstream to the starting point. If the speed of the stream is 3 km/h, then find the speed of 

the boat?

1.20 km/h
2.24 km/h
3.18 km/h
4.26 km/h
5.48 km/h

एक िार् िारा के अिुकूि एक निखित र्दरूी 5 घंटे में तय करती है िेदकि िारा के प्रनतकूि प्रारंनभक बिंर्द ुपर िौटिे 
में 7 घंटे िेती है. यदर्द िारा की गनत 3 दकमी/घंटा है, तो िार् की गनत ज्ञात कीखजये?



A can finish a job in 20 days while B can finish same job in 30 days. A and B both worked 

for 5 days and C joins them. In next 3.5 days, all three have manage to complete the job. 

Find in how many days C alone can finish the job?

1.9 days
2.3 days
3.12 days
4.24 days
5.6 days

A एक कायव को 20 दर्दिों में पूरा कर सकता है जिदक B उसी कायव को 30 दर्दिों में पूरा कर सकता है। A और B 
र्दोिों िे 5 दर्दिों तक काम दकया और C उिमें शानमि हो गया। अगिे 3.5 दर्दिों में, तीिों कायव को पूरा करिे में 
कामयाि हो गए हैं। ज्ञात कीखजये दक C अकेिे कायव को दकतिे दर्दिों में पूरा कर सकता है?



The average weight of A, B, C, D, and E is 48 kg while the average weight of C and E is 42 

kg. If the weight of F is also added, then the average weight of all six is reduced by 2.5 kg. 

Find the average weight of A, B, D, and  F?

1.52.25 kg
2.42.25 kg
3.47.25 kg
4.57.25 kg
5.45.25 kg

A, B, C, D और E का औसत र्जि 48 दकग्रा है जिदक C और E का औसत र्जि 42 दकग्रा है। यदर्द F का र्जि भी 
जोड दर्दया जाए, तो सभी छह का औसत र्जि 2.5 दकिो कम हो जाता है। A, B, D और F का औसत र्जि ज्ञात 
कीखजये?



A bag contains black and white balls, such that the probability of picking a black ball is 

4/7. If the probability of picking two black balls without replacing the first is 4/13, how 

many black balls are there in the bag?

1.4
2.5
3.6
4.7
5.8

एक िैग में कािी और सफेर्द गेंर्दें हैं, जैसे दक कािी गेंर्द चुििे की संभार्िा 4/7 है। यदर्द पहिी गेंर्द को 
प्रनतस्थाबपत दकए बििा र्दो कािी गेंर्दों को चुििे की संभार्िा 4/13 है, तो िैग में दकतिी कािी गेंर्दें हैं?


